Exercises

In Exercises 1-4, verify directly that F is an antiderivative of f,

| |
1. F(x)=§x3+2x2—x+2;f(x)=x2+4x—l

2 Fx) = xe* + myf{x) = €1+ %)
&FQ)=VQ%—1JQ)=§G%%7

4. F(x) = xlx - xfx) =lnx

In Exercises 5-8, (a) verify that Gis an antiderivative of f, (b) find
all antiderivatives of f, and (¢) sketch the graphs of a few mem-
bers of the family of antiderivatives found in part (b).

5, G6(r) = f(x) =2 6 G(x) = 2% f(x) = dx
7. G(x) = —;-xa; i) =2+ 8.Gx)=e5flx) =€

In Exercises 9-50, find the indefinite integral.
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